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1. B E-ABKESF (PREEE - SHE2 1 HESE - REMMEBRESR)
XHEE FHELE | FPEWTE FHPTAR
REHE 375,000 276,300
EEi 375,000 276,300 | 1%L £:276,300
=RH 8,523,308 8,376,428
SHERE 7,285,308 7,110,859| —AE =75 A M 1,957,673 T DHth1,802.434 £EMARE1,271,704
M E 41,000 39,1554 £ 39,155
BigE 1,000 0
ENR S A 500,000 683,804 | ENRII3Y 5 % —%476,861 {75 EN1MI206,943
& 696,000 542,610\ & MEIE (BHFF15)302,610 & EH240,000
"’BE 276,005 244,677
EER 94,000 85,470 (ER{E 44 —fi85,470
FHn 115,005 105,615|E7 /A2 F 04454,560 &')—=2 4 1£50,560 ZDHthFH#1495
IR 67,000 53,502| 41 4453,592
ERAMRVERSER 60,000 46,640
|§i%1‘a*J:¥4 60,000 46,640( %15 i FA 446,640
R E 181,000 171,182
|I§$a‘¥4§ 181,000 171,182| M 3 & — 171,182
HERBAE 2,466,000 2,454,555
|ﬁﬁﬁ%§§ﬁ§)\§ 2,466,000 2,454,555 |5+ # 81,598,938 Z (D1t1855,617
E 11,881,313 11,569,782
2. TOMDEEE
XHEE FHELE | FPEWTE FHPITAR
REHE 136,000 118,800
EEi 136,000 118,800 | Bt S H & 15 5l S} AR SR AT 140 118,800
i 2,310,978 2,295,978
LEiRE 2,309,978 2,295978| & iE ik # 2,295,978
HAFE 1,000 0
HAIRE 0 0
X 18,000 10,000
REE 18,000 10,000
=RH 1,899,913 1,839,041
HAERE 1,873,913 1,813367|CAREHAME1,169745 EEEHAEI79240 SHAEH4199,880
I ER 26,000 25,674(BR L EEFFNMI25674
"’BE 17,000 17,000
EEEE 17,000 17,000(ER5%%416,000 ] F1£1,000
FHn 0 0
ERAMRVERSER 3,400 2,900
|§§?J$1‘EH:¥4 3,400 2,900| B B =& £ 442,900
HERBAE 436,040 425,040
|ﬁﬁﬁ%§§ﬁ§)\§ 436,040 425,040 |45 FA { §2425,040
BEERURMAE 759,585 695,745
BEE 744,585 695,745 FHERI (R B 18 £612.960 SFFREMZRAEL ()82,785
HEGEE 15,000 0
B 5,580,916 5,404,504
3. ERELEEEEH
XHHE FHELEE | PENTH
it 17,462,229 16,974,286




